TR IR

T= CGE%) RitFOBNIHONT

||m|

T2 (%) HEFEBEOAFRIZL VAV E-EFRIZ, BRSO
HOWMRNEGOHENH D=0, é&%ﬂ@ﬂ% Wz - Tl
27 n— R AT A SUTEAC BT D 1 KRR S & o
E L, AEEEIZEADLT | E=F~0RMTE] 2IT7DHRWNZ

(\r

HLE IR



ESC TSR

AR

¥¥%4 Rt EE438%5 T LEEBEEES * Fi TRBGET RS
IH H FIE AR B TT
HE - TH - &3l - Mkl HirE BN e BT &FA Yo - SFEH T
FIE AR B TE
= 9,975, 000
FEEE AR EB LT
= 9, 975, 000
TR AR S
= 9, 975, 000
TRESB R s (B ) 15
= 9,975, 000
[ERZS 3¢
= 413, 962
[k
= 413, 962
B A B
= 413,962
R EE (G X IR) 25
= 413, 962
EEEM (FoftEimER <)
= 10, 388, 962
Z O 35
= 3, 324, 667
— R B =
= 7,384, 371
RS MR
= 21, 098, 000
VHEBLAE X A
= 2, 109, 800

=
IS

i
I




ESC TSR

AR

¥H4 R6fEt [EHE438%5 - T ITHEEXEES * Fi TR
IH H R
HE - T8 - FER - Ml HirE HAAL e B &FA Yo - SFEH T
ARG TR
= 23, 207, 800

=

N
Zim




~ = =g Al 5 4F 2024. 03
1 /’k WﬁR = by Vikindy 2024. 03
" TR SRR EAERT) 55 B AR A 1.000-00000 0.0 0
15 i 75 (22 1m B O T
— S - Btk HAL o AT A
T A 12 68, 400 820, 800
B
TR L% ! 22, 800 22, 800
i 12 760, 950 9,131, 400
N2
At 9,975, 000
1 Db\ W §R - Ll 4F A 2024. 03
5] B A A 2024. 03
. R E RRELE WyHe ERC TR S 1.000-00000 0.0 0
2% SCIHHE
S - Btk HAL Wk =
RIER (RTE K1) — wal el
A 1 413, 962
N2
aat 413, 962

N
Zim

=N



. EAME A4 A 2024. 03
1 Db\ Iji] ER =E At A A 2024. 03
H H TS IHEEAR L 1. 000-00000 0.0 0
N 35 [T OMUR
HR - H E ks BT o HAA K} T 2
EREINEE-MEEE )
HHE N H%:9, 975, 000
= 1 9,975, 000|%& X9 : 0
o/ (1—a)
25%, (1—25%)
% 33.33
Z O
HEENE GREHES
= 1 3,324,667]) Xa,/(1—a)
it 3,324, 667

=
IS

i
I



~ = SR 4 2024. 03
1 /Jh\ W ﬁR %‘: A 4R A 2024. 03

TS IHEEAR L 1. 000-00000 0.0 0

N 45 - ';%EEE%

HR - H E ks BT o HAA KA i
E S Yl
FEIEA 13, 713, 629
= 1 13,713,629 | & [X9 0
B/ (1—8)
35%, (1—35%)
% 53. 85
— R
¥EBIEMX B/ (1—B
= 1 7,384, 789|)
FREEkE
-418
&t 7,384, 371

=
IS

i
I



